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Intuitively, (G, !") and (G, 1"”) are different groups.

BMEisa(mes,d)-groupon /s DIU/
Intuitively, (G, Is) is different from (G, /") and from (G, I")
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Results

3) How many combinatorially different groups are there?

R1 R
#combinatorially diff. maximal groups O(].A|n?) O(n*134(n))
#maximal (m, €, 9)-groups Q(n37) Q(n37) [WADS 2013]
4) How do we compute them?
Running time O(|.A|n? log® n) O(n*7B4(n) log” n)

1) How do we represent them s.t. we can efficiently change (m, ¢, §)?

Update time

Change parameters O(log®(nT) + k) VS O(,/g log®(nT) + k)

Thank you!

n = #trajectories 7 = trajectory length A = trajectory arrangement Bs(n) = A4(n)/n
k = output size g = #maximal groups (for fixed ¢)
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1 G = some of entites
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Consider region Ag s.t.:
(m,d,e,t) € Ag < G forms an (m, e, d)-group at time ¢

O

time

SEN
Theorem. The total complexity of all regions Pg, over all sets G, is O(|.A|n?).
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An algorithm for computing ¢

Goal: Compute § <= Construct the sets of regions P¢ for all G.

1) Construct ‘H

2) Use a sweepline algo to compute the regions

2a) Figure out how to handle each event efficiently

Theorem. We can compute G in O(|A|n?log® n) time.
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